EARAROBEEIERT — 2 N— IBISH —F

20145108158 (k) 16EIEM4H

JXiFvy RKC2 ¥R 3K L ‘ =z # ‘ (rsh] — | & (&) 14000 &
[AE£] 1% :250,000 ™ ~ 2%&:45,000”  37%&:22,500 W  43%&:12,500 53 :7,500 0
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
- s M2V PN :31. -8-3- . — FEERER (EE
il5l5| 71 Fy—n— 3 L 1(3_1)5 9-8-3-1 |38.9 1 <5+142) g&%ﬁﬁ
R8T B U—4A A
. =T H— 1. oo 6| — FREE (B
o180 w1 28—t H 5 52?5.0 1(321)8 2-2-2-3 | 39.6 4 (4+939) -,’ﬁéaa;‘%.
R:A—J X124 B:TF14b>ET- EvJlLy RIT7—L
4 4 | KIUEE 1:32.0 4-4-4-4 | 39.4| — 3 474 | RFI=(E (EER)
EH o | LTIV F — 56.0 (3/4) (3) | PREIRRSE
LT RIAYT 168 Bivw/~N—F EH =
o1 = AFfE : —7-7- — #6)l¥E7a (E/)
a1l |2x/ 704805 it 4 vl (17.3;% 7-7-7-5 | 39.3 2 <4+327) o=
R:Z28—-)>r70-X B:¥>E/4a> 30K S5
N sy = REELT :32. —-8-8- . — FEZ (Fh)
R ES A T 87 i 1(342)6 8-8-8-8 | 39.5 6 ;1_619) phaa
R:FLFIO-YTZ B:Ar7—FOY aKR f—
N N JEREFNEE :32. —1-1- . = XiBEE (BMA
6lalg|orrwarix i 3 . 1(33/24)8 1-1-1-2 | 40.6 5 (4+533) TRy
SRR R N=N— B A4y a7l A #H BB
SR . £ o — B
7 6| NIZXNTTH 3 g’zéz_%h 1(733 5-5-5-5 | 40.2 10 | 447 i%g%m&)
QYR IURIR BLALA—TNT 7 12 | = s ommany
— TERE : -6-10- — SiTEerE (EM)
glzl7| b—a—xo7¢ 4 3 T 1.(343).5 6-6-10-10 | 40.4 9 ;1:126) ﬁéﬁa&é
R:VYZot5T74L BEYILRTAZT 1 BRI
. — o Kih—8 :33. -10-9- . — VR (Tl
9 4| NANRT YT s 56.0 (11 313/47) 10-10-9-9 | 40.6 ! ;1:520) fﬂu@i
L=t 7O— B:7AAILY ME EE
- 3 | EfmE 1:33. 367 | 41.3| — mFES (i)
10 3| YLTMLTTY s 6.0 (13/32)8 556 8 8 (4+5;) %E) LT
L= L B:YXT 4 F vl Eigie]
® 1—F—@EBIERL
1T=7r= 9,10,3,2,6,7,1,8,5,4
2a=5F= 9,10,3,2,6,7,1,(5,8) ,4
Ja=5= 9,10,5,2,6,3,1,8,4,7
43—+ — 5,9,10,2,(1,6),3,8,4,7
[ N5
B 5 1909 714K 5-10 480M e E 5-8 4108 JEE 2-5-10 2,090M
B B 5 130H4 2= 310 B = 5-10 770M JEE 5-10-2 6,320/
10 200H 2-10 740M B H 5-10 1,330
2 1309

ABICOVWTRDTEEERROODE. TR LIV,




